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Chapter 02 - Financial Statements and Accounting Concepts/Principles

CHAPTER
2 Financial Statements and
Accounting Concepts/Principles
CHAPTER OUTLINE:

I. Financial Statements
A. From Transactions to Financial Statements
B. Financial Statements Illustrated
1. Explanations and Definitions
a. Balance Sheet
b. Income Statement
c. Statement of Changes in Stockholders' Equity
d. Statement of Cash Flows
2. Comparative Statements in Subsequent Years
3. lllustration of Financial Statement Relationships

I1. Accounting Concepts and Principles
A. Schematic Model of Concepts and Principles
B. Concepts/Principles Related to the Entire Model
C. Concepts/Principles Related to Transactions
D. Concepts/Principles Related to Bookkeeping Procedures and the Accounting Process
E. Concepts/Principles Related to Financial Statements
F. Limitations of Financial Statements

II1. The Corporation’s Annual Report
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Chapter 02 - Financial Statements and Accounting Concepts/Principles

TEACHING/LEARNING OBJECTIVES:

Principal:

1. To illustrate the four principal financial statements and their basic form.
2. To introduce students to the terminology of financial statements.
3. To present the accounting equation.

4. To explain several of the concepts of financial accounting and financial statement
presentation.

Supporting:

5. To explain that financial statements are the product of financial accounting and that the
statements represent a historical summary of transactions.

6. To explain some of the limitations of financial statements.
7. To illustrate that the financial statements are included in the corporation’s annual report.

8. To introduce and explain several business procedures and their terminology.

TEACHING OBSERVATIONS:

1. This is the keystone chapter of the text, and the material presented here becomes a foundation
for all subsequent financial accounting topics. The instructor must resist trying to teach
the entire course from this one chapter! Instead, try to help students sort out the key ideas
that must be learned now from those that they should be acquainted with, but that will really
be learned when subsequent material is covered. Items to be learned now include:

What a transaction is.

The name of each financial statement and what it shows.

The accounting equation.

Financial statement relationships.

Limitations of financial statements.

®o0 o

2. A significant amount of time should be spent illustrating and explaining the purpose and
content—by account category (asset, liability, stockholders' equity, revenue, expense)—of each
financial statement, and how the financial statements tie together. Some instructors may wish to
discuss gains and losses at this point, but the key is to keep it as simple as possible!

2-2
© 2014 by McGraw-Hill Education. This is proprietary material solely for authorized instructor use. Not authorized for sale or distribution in any
manner. This document may not be copied, scanned, duplicated, forwarded, distributed, or posted on a website, in whole or part.



Chapter 02 - Financial Statements and Accounting Concepts/Principles

3.

It is recommended that the following models be emphasized:

a. Balance Sheet:

Assets = Liabilities + Stockholders' Equity
Beginning of Period  $ $ $
Changes During Period +/- +/- +/-
End of Period $ $ $
b. Income Statement: Revenues
- EXxpenses
= Net Income

c. Statement of Changes in Stockholders’ Equity:

Beginning Balance of Stockholders' Equity
+ Owners' Investment
+ Net Income
- Dividends
= Ending Balance of Stockholders' Equity

(As with the discussion of gains and losses, some instructors may wish to acknowledge
“other” sources of changes in stockholders’ equity such as treasury stock, accumulated other
comprehensive income, prior period adjustments, etc. This is a function of instructor
preference and the extent to which students have been previously exposed to real world
financial statements. An early dose of “reality” can be refreshing for graduate students, but
might be distracting to a younger, less experienced audience.)

It is helpful to spend time with the concepts and principles model, explaining what each
concept/principle means and showing how it relates to the "Transactions to Financial
Statements" process.

It is appropriate to emphasize the limitations of financial statements now, because they can
create a mindset that helps students understand more specific accounting principles when
they are covered later.

The Business In Practice boxes are designed to enhance student understanding by removing
some jargon and explanation from the flow of the text material, while providing a context for
that material. These provide good class discussion topics.

You may wish to encourage students to self-study this material by using the PowerPoint
presentations available on the website.

Remind students that the fully worked-out solutions to all odd-numbered exercises and

problems are provided on the website. The student study guide (previously a printed volume
that students were required to purchase separately) is also available on the website for free.
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Chapter 02 - Financial Statements and Accounting Concepts/Principles

ASSIGNMENT OVERVIEW:

This chapter provides a wide variety of assignments to choose from—ranging from the basic
association-type mini-exercises and exercises, to the more challenging, analytical-type problems.
Be careful not to over-assign or under-assign homework from this chapter.

LEARNING DIFFICULTY & OTHER

NO. OBJECTIVES | TIME ESTIMATE | COMMENTS

M21. |23 Easy, 3-5 min. Similar to E2.9.-E2.14.

M22. |2,3 Easy, 3-5 min. See M2.1. Good in-class demo exercise.

M23. |23 Med., 7-10 min. Challenging mini-exercise. Requires clear-cut understanding of
income statement relationships. Encourage use of Exhibit 2-2 as
a solution model.

M24. |23 Med., 7-10 min. See M2.3. Good way to review and reinforce the structure of the
income statement in class.

M25. |24 Easy, 2-3 min. Basic identification of asset accounts.

M26. |24 Easy, 2-3 min. Basic identification of income statement accounts.

E2.7. 2,4 Easy, 3-5 min. Simple account identification exercise.

E2.8. 2,4 Easy, 3-5 min. See E2.7.

E2.9. 2,3 Med., 5-8 min. Reinforces the balance sheet equation, and stresses the
distinction between PIC and RE.

E2.10. | 2,3 Med., 5-8 min. See E2.9. Good homework assignment.

E2.11. | 2,3 Easy, 3-5 min. “RE is affected only by net income (loss) and dividends.” This is
a bit of a fiction, but it works effectively in the Chapter 2. Other
effects on retained earnings (i.e., stock dividends and prior period
adjustments) are not discussed until Chapter 8.

E2.12. [ 2,3 Easy, 3-5 min. See E2.11. Good homework assignment.

E2.13. | 2,3 Med., 5-10 min. The worksheet format is used to help students understand
financial statement relationships. Explain that “net assets” = A-L
= SE.

E2.14. | 2,3 Med., 5-10 min. See E2.13. Good in-class demonstration exercise.

P2.15. [2,3,6 Med., 7-10 min. Most instructors omit this problem. Can be used to illustrate the
sale of assets at gains/losses, and to emphasize the difference
between cash and stockholders’ equity.

P2.16. | 2,3,6 Med., 10-12 min. See P2.15.

P2.17. |2,3,4 Med., 15-20 min. Straight-forward problem emphasizing financial statement
relationships. Students respond well.

P2.18. | 2,34 Med., 15-20 min. See P2.17.

P2.19. |2,3,4 Med., 20-25 min. Similar to P2.15., P2.16., but requires the preparation of financial
statements. Good for in-class demonstration.

P2.20. |2,3,4 Med., 20-25 min. Excel problem. See P2.19. Good homework assignment.

pP2.21. [2,3 Med., 5-8 min. Can use later as a Chapter 4 assignment.

P2.22. |2,3,6 Med.-Hard, 15-20. Group learning problem. Good in-class demonstration
problem.

P2.23. [2,3,5 Med., 7-10 min. Stress the importance of the historical cost principle.

P2.24. 12,356 Med., 10-12 min. Group learning problem. See P2.23.

P2.25. | 2,4 Med., 10-12 min. Group learning problem. Emphasizes the structure of the
income statement.

P2.26. | 2,4 Med., 10-12 min. Explain why “Other Income, net” is excluded from operating
income.

C2.27. | 2,4,6,7 Med., 15-20 min. Excellent conceptual case, but be sure to relate student responses

back to the terminology introduced in the chapter.
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Chapter 02 - Financial Statements and Accounting Concepts/Principles

SOLUTIONS:

Matching
1. s 9. ¢
2. h 10. d
3. b 11. t
4. aa 12. n
5 u 13. i
6. Vv 14. w
7. p 15. m
8. f

Multiple Choice
1. b 6. d
2. b 7. b
3. b 8. d
4. ¢ 9. d
5 a 10. e

Multiple Choice Annotations:
1. Review Exhibit 2-3.
2. Balance sheets are presented at a point in time, rather than for a period of time.

3. Calculate total stockholders’ equity at the beginning of the year, and then add net income to
get the answer. $21,000 - $12,000 = $9,000 beginning + $5,000 net income = $14,000
ending.

4. $119,000 beginning + $35,000 net income - $29,000 dividends = $125,000 ending balance.

5. Internal auditors are employees of the corporation, and thus lack the independence required
to express an opinion about the fairness of the firm’s financial statements; external CPA
auditors (public accounting firms) must be engaged to provide such services.
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Chapter 02 - Financial Statements and Accounting Concepts/Principles

M2.1.

M2.2.

A = L + SE

Beginning: $48,000 = $27,000 + ?
Changes: = +8,000 net income (increase to retained earnings)
-2,000 dividends (decrease to retained earnings)

Ending: = + ?

Solution approach:

Beginning stockholders’ equity = $48,000 - $27,000 = $21,000. Net income increases

retained earnings and dividends decrease retained earnings. Retained earnings are part
of stockholders’ equity, so assuming no other changes occurred during the year, ending
stockholders’ equity = $21,000 + $8,000 - $2,000 = $27,000.

SE
Beginning:  $82,000
Changes: +10,000 common stock issued at par value (increase to paid-in capital)
+12,000 net income (increase to retained earnings)
-3,000 dividends (decrease to retained earnings)
Ending: ?

Solution approach:

No information is given about assets or liabilities, so the focus is entirely on
stockholders’ equity. Beginning stockholders’ equity +/- changes during the year =
ending stockholders’ equity. $82,000 + $10,000 + $12,000 - $3,000 = $101,000.
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Chapter 02 - Financial Statements and Accounting Concepts/Principles

M2.3.
NEE SAIES....c.. ceeeeiiiiis eiiieiies cerieiere e e s $125,000
Cost 0f goods SOId ... ...covvveet et s et e, ? = 75,000
Gross Profit.. ...oooees coieiiis s s e $ 50,000
Selling, general, and administrative eXpenses........ c.......... 22,000
Income from Operations....... ..cccccvees vevevieeies cevvieeiies eveeiens ? = 28,000
INtErESt EXPENSE ...vve it e e e e ? = 3,000
INCOME DETOre taXEeS. ..ovivies et e e e $ ? = 25,000
INCOME taX EXPENSE . ..oiviies wieiieiis crreriies e e 5,000
NEL INCOME... coiiiiiiit cieiiies e e e e 20,000
Solution approach:
Set up an income statement using the structure and format as shown in Exhibit 2-2, then
solve for missing amounts.
One possible calculation sequence: (1) $125,000 - $50,000 = $75,000 cost of goods
sold. (2) $50,000 - $22,000 = $28,000 income from operations. (3) $20,000 + $5,000 =
$25,000 income before taxes. (4) $28,000 - $25,000 = $3,000 interest expense.
M2.4.
NEE SAIES....... ceiiiiiiet et et e ees ceeieeas eeieeeans $ ? = 100,000
Cost 0f goods SOId ... ....ccvevs v e et e 40,000
GrosSs Profit.. ..ooveces ceceiiis i e e $ ? = 60,000
Selling, general, and administrative eXpenses......... ........... 22,000
Income from OpPerations....... ..ccovcveee veveveeies ceevveies ereeiens 38,000
INtEreSt EXPENSE ...vvvs ceveeiciies i rrve e ree e ree e 6,000
INCOME DEFOrE tAXES. ..vvvveiis e e s eeee e $ ? = 32,000
INCOME 1aX EXPENSE . ..vviiiiies crvieiiies crrveriees rreeiiees reeenieens 8,000
NEL INCOME... ¢ooiiiiirs ceeiiiiies ceriee et eeeeeiies ceeieeees areeeans $ ? = 24,000

Solution approach:
Set up an income statement using the structure and format as shown in Exhibit 2-2, then
solve for missing amounts.

Calculation sequence: (1) $38,000 - $6,000 = $32,000 income before taxes.
(2) $32,000 - $8,000 = $24,000 net income. (3) $38,000 + $22,000 = $60,000 gross
profit. (4) $60,000 + $40,000 = $100,000 net sales.

An alternative calculation sequence would have been to solve for gross profit and net
sales first, and to then solve for income before taxes and net income.
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M2.5.

M2.6.

E2.7.

Common stock and retained earnings are stockholders’ equity accounts; cost of goods
sold and interest expense are expenses; sales is a revenue account; long-term debt and
accounts payable are liabilities.

The assets listed are: land, merchandise inventory, equipment, accounts receivable,
supplies, cash, and buildings.

Sales and service revenues are revenues accounts on the income statement; income tax
expense, cost of goods sold, and rent expense are expenses on the income statement.

Land, equipment, accounts receivable, supplies, buildings, and cash are assets on the
balance sheet; accumulated depreciation is a contra-asset on the balance sheet; notes
payable is a liability on the balance sheet; and common stock is a stockholders’ equity
account on the balance sheet.

Financial
Category Statement(s)
Cash.. .o A BS
Accounts payable..............cooiiiiiiii L BS
Common StocK........c.oviiiiiiiiiiiiiiie SE BS
Depreciation eXpense..........oeeveeveeeneennennnn.. E IS
Netsales....ovviiiini i R IS
Income tax expense.........c.ooevvviiiiiniiiennnn.. E IS
Short-term investments.............................. A BS
Gainonsaleofland........................... G IS
Retained earnings.............c.coevviiviiiiinnnnn.. SE BS
Dividends payable.................ocoiiii L BS
Accounts receivable..............ooiiiiiiiiin. A BS
Short-termdebt...................co L BS
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Chapter 02 - Financial Statements and Accounting Concepts/Principles

E2.8.
Financial
Category Statement(s)

Accumulated depreciation........................... A BS
Long-term debt...........ocooiiiiiiiiii L BS
Equipment.............oooiiiiiii A BS
Loss on sale of short-term investments............ LS Is
NetINCOME......viiiiii i SE* IS
Merchandise inventory................ccoovvenennn.. A BS
Other accrued liabilities............................. L BS
Dividends paid..............ccoooiiiiiiii SE Neither**
Cost of goods sold...........ccovviiiiiiiiiiiinnnn.. E IS
Additional paid-in capital............................ SE BS
Interest INCOME.........cevvvivniiiiiiiiiiieneene. R IS
Selling eXpenses.......c.ovueveiiiiiiiiiiiiaeanann, E Is

* Although net income appears as a caption on the income statement, it represents an

increase to retained earnings, which is a stockholders’ equity account.

** Trick question! “Dividends paid” appears only on the Statement of Changes in

Stockholders’ Equity. Dividends paid are distributions of earnings that reduce retained

earnings on the balance sheet. Dividends paid are not expenses, and thus do not appear

on the income statement.

E2.9.

Use the accounting equation to solve for the missing information:

Firm A:
A = L + PIC +(Beg.RE + NI - DIV = End.RE)
$420,000 = $215,000 + $75,000 + ( $78,000 + ? -$50,000 = ? )

In this case, the ending balance of retained earnings must be determined first:
$420,000 = $215,000 + $75,000 + End. RE.
Retained earnings, 12/31/13 = $130,000

Once the ending balance of retained earnings is known, net income can be determined:
$78,000 + NI — $50,000 = $130,000
Net income for 2013 = $102,000

Firm B:
A = L +PIC+(Beg. RE+ NI - DIV = End RE)
$540,000 =$145,000 + ? +( ? + $83,000 - $19,000 = $310,000)

$540,000 = $145,000 + PIC + $310,000
Paid-in capital, 12/31/13 = $85,000
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Beg. RE + $83,000 - $19,000 = $310,000
Retained earnings, 1/1/13 = $246,000

Firm C:
A =L+ PIC +(Beg.RE+ NI - DIV = End.RE)
$325,000 = ? +$40,000 + ($42,000 +$113,000 - $65,000 = ? )

In this case, the ending balance of retained earnings must be determined first:
$42,000 + $113,000 - $65,000 = End. RE
Retained earnings, 12/31/13 = $90,000

Once the ending balance of retained earnings is known, liabilities can be determined:
$325,000 = L + $40,000 + $90,000
Total liabilities, 12/31/13 = $195,000

E2.10.
Use the accounting equation to solve for the missing information:
Firm A:
A= L + PIC +(Beg.RE + NI - DIV =End. RE)
$ ? =$160,000 + $110,000 + ($100,000 + 136,000 - $24,000 = ? )

In this case, the ending balance of retained earnings must be determined first:
$100,000 + $136,000 - $24,000 = End. RE.
Retained earnings, 12/31/13 = $212,000

Once the ending balance of retained earnings is known, total assets can be determ
A =$160,000 + $110,000 + $212,000
Total assets, 12/31/13 = $482,000

Firm B:

A =L+ PIC +(Beg.RE+ NI - DIV = End.RE)
$870,000 = ? + $118,000 +( $248,000 + $220,000- ? = $372,000)
$870,000 = L + $118,000 + $372,000
Total liabilities, 12/31/13 = $380,000
$248,000 + $220,000 - DIV = $372,000
Dividends declared and paid during 2013 = $96,000
Firm C:

A = L + PIC +(Beg.RE+ NI - DIV = End RE)

$310,000 = $150,000 + $90,000+( ? + $51,000-%$33,000= ? )
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In this case, the ending balance of retained earnings must be determined first:
$310,000 = $150,000 + $90,000 + End. RE
Retained earnings, 12/31/13 = $70,000

Once the ending balance of retained earnings is known, the beginning balance of retained
earnings can be determined:

Beg. RE + $51,000 - $33,000 = $70,000

Retained earnings, 1/1/13 = $52,000

E2.11.
Prepare the retained earnings portion of a statement of changes in stockholders' equity
for the year ended December 31, 2013:
Retained Earnings, December 31, 2012............ccoiiiiiiiiiiiiiin, $ 311,800
Less: Net loss for the year ended December 31, 2013....................... (4,700)
Less: Dividends declared and paid in 2013................coooiiiiiiinenn.n. (18,500)
Retained Earnings, December 31, 2013..........ccoiiiiiiiiiiiiiin, $288,600
E2.12.
Retained Earnings, December 31, 2012..........cccoiiiiiiiiiiiiiiei ?
Less: Net income for the year ended December 31, 2013.................... 45,200
Less: Dividends declared and paid in 2013................cooiiiiiiiiiiininn, (9,000)
Retained Earnings, December 31, 2013..........cccoiiiiiiiiiiiiee, $420,600
Solving the model, retained earnings at December 31, 2012 was $384,400.
E2.13.
SE
A = L + PIC + RE
Beginning:  $12,400 = $7,000 + $ 0 + $5,400
Changes: ? = -1,200 + 0 + 3,000 (netincome)
? _ (dividends)
Ending: ?  =_72 +__ 0 +$6,000
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Solution approach:

(Remember that net assets = Assets - Liabilities = Stockholders’ equity = PIC + RE ).
Since paid-in capital did not change during the year, assume that the beginning and
ending balances are $0. Thus, beginning retained earnings = $12,400 - $7,000 =
$5,400, and ending retained earnings = net assets at the end of the year = $6,000. By
looking at the RE column, it can be seen that dividends must have been $2,400. Also
by looking at the liabilities column, it can be seen that ending liabilities are $5,800, and
therefore ending assets must be $11,800. Thus, total assets decreased by $600 during
the year ($12,400 - $11,800), which is equal to the net decrease on the right-hand side
of the balance sheet (-$1,200 liabilities + $3,000 net income - $2,400 dividends = $600
net decrease in assets).

E2.14.
SE
A = L + PIC + RE
Beginning: ? = $640,000 + $60,000 + ?

Changes:  +130,000 -36,000 + ? + ?  (netincome or loss)
-50,000 (dividends)

? + $384,000 + ? ($858,000 total SE)

Ending: ?

Solution approach:

Ending retained earnings = $858,000 total stockholders’ equity - $384,000 paid-in
capital = $474,000. Ending liabilities = $640,000 beginning liabilities - $36,000
decrease = $604,000. Thus, ending assets = $604,000 liabilities + $858,000
stockholders’ equity = $1,462,000. Beginning assets = $1,462,000 ending assets -
$130,000 increase = $1,332,000. Beginning retained earnings = $1,332,000 assets -
$640,000 liabilities - $60,000 paid-in capital = $632,000. Once the beginning and
ending retained earnings balances are known, the net income or loss for the year can
be determined as follows:

Retained earnings, beginning. ........... coocviies vt v e, $632,000
Less: Net income or 10ss for the year ........... coccovvees veveveies evienn, ?

Less: Dividends declared and paid during the year ... .......c... voeevenee. (50,000)
Retained earnings, eNdiNg...... .cccccoves ceeveeies evveiens ceveeienns ceeeens $474,000

Solving the model, the net loss of the year = $(108,000).
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P2.15.  Set up the accounting equation and show the effects of the transactions described.
Since total assets must equal total liabilities and stockholders’ equity, the unadjusted

stockholders’ equity can be calculated by subtracting liabilities from the total of the
assets given.

A = L + SE
Accounts Plant & Stockholders’

Cash + Receivable + Inventory + Equipment = Liabilities + Equity
Data given $ 22,800 + 114,200 + 61,400 + 265,000 = 305,600 + 157,800
Collection of accounts receivable +108,490  -114,200 -5,710
Inventory liquidation +49,120 -61,400 -12,280
Sale of plant & equipment +190,000 -265,000 -75,000
Payment of liabilities -305,600 -305,600 0
Balance $ 64,810 0 0 0 0 $ 64810

*The effects of these transactions on stockholders’ equity represent losses from the
sale (or collection) of the non-cash assets.
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P2.16.

a. The solution approach is similar to that shown in Problem 2-15. Gains or losses
can be calculated for the sale (or collection) of each of Kimber Co.’s non-cash
assets, as follows:

Cash received upon Gain (loss) recorded and
sale or collection of asset  effect on Stockholders’ Equity

Accounts receivable . ... $125,200 *88% = $110,176 $125,200 * 12% = $(15,024)
Merchandise inventory .. $229,400 * 85% = 194,990 $229,400 * 15% = (34,410)
Buildings & Equipment .. BV~ + $80,000 = 376,000 Amount above BV = 80,000
Land................. Appraised amount = _ 130,000 $130,000 - $102,000 = 28,000
Total cash received $811,166 Net gain $58,566

N $686,000 - $390,000 accumulated depreciation = $296,000 book value of
buildings & equipment.

The $811,166 cash received from the liquidation of non-cash assets would be added
to the beginning cash balance of $36,800, and $847,966 is the amount of cash
available to pay the claims of creditors and stockholders. Liabilities would be paid
first (including the amounts that are not shown on the balance sheet), and the
balance would be paid to the stockholders:

Total cash available... ....c.cocc. ceeviviees e e e $847,966
Accounts Payable ...... oo i s e e $ 93,400

Notes payable ........... cooeeis et s e s 117,000

Wages payable (not shown on balance sheet)........... .......... 4,800

Interest payable (not shown on balance sheet).......... ........... 10,500

Long-term debt.......... oot ces e e 129,600 (355,300)
Total cash available to stockholders......... ccccocoos e $492,666
The total cash available to stockholders upon liquidation can be verified, as
follows:

Total stockholders’ equity (unadjusted, from balance sheet) ........... $449,400
Add: Gain on sale of buildings & equipment ........... ccccoceet v 80,000
Add: Gain on sale of 1and...... .cccccees coiiiiiis i e s 28,000
Less: Loss on collection of accounts receivable ....... ..o v (15,024)
Less: Loss on liquidation of merchandise inventory. ........... ........... (34,410)
Less: Unrecorded Wages EXPENSE...... .ooiiere everreers seerieriens seesienneas (4,800)
Less: Unrecorded interest EXPENnSe.... ..oovvvecee vovveriiens vovieeiees eevieeanns (10,500)
Total stockholders’ equity, as adjusted...... .....cccce cevvrens e $492,666

As shown in the schedule above, total stockholders’ equity on the balance sheet had
not been adjusted for the gains and losses from the sale (or collection) of the non-
cash assets; nor was it adjusted for the effects of the expense/liability accruals for
wages and interest.
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P2.17.

a. ACCOUNLS FECEIVADIE .. ...viiciii eiiiiiis et ceieeies eevieses cereeeeas $ 33,000
CaSN .. et e e e e e 9,000
SUPPHES it et it s e e e e 6,000
MerchandiSe INVENLOIY .......... covcveiies ceeieiiees ceieiiens creesreenes eesreenas 31,000
TOtal CUMTENE 8SSELS.... viiieiiis eriiiies crieiies ceerieees ceerieeees enreaeeas $ 79,000

b.  ACCOUNtS PAYADIE ... cociciies et e e e e $ 23,000
Long-term debt.......... covoiiis s e e e 40,000
(001 4111410 11 (0103 -G 10,000
Retained  arnNiNgS...... cocivcviees coverieis ceeieies ceerresies cerreeeens crreeeens 59,000
Total liabilities and stockholders’ equity ..... ...cccceees evvrinns cerierine $132,000

C. SAlES TEVENUE. ..ooceeiiet et et ettt e e es ceeireees eeeieeeans $140,000
Cost 0f go0ds SOIA..... ..cceeiies et et e e e (90,000)
GrOSS Profit .. woveiies it e et e e $ 50,000
SEIVICE TEVENUE ....vvevs eiiiiiis ciesiieries ceeiesies caresreanes ereeseenns esressens 20,000
Depreciation EXPENSE .......cce woveereres erieriinie eeeeees srereesrens sreseeieas (12,000)
SUPPIIES BXPENSE ... vecviiiiies ceieities creeiteees eerreeees ceseaeens cereeeens (14,000)
Earnings from operations (operating inCOMEe)........... vocevvvves vovvreene. $ 44,000

d. Earnings from operations (operating inCOMEe)........... coceeeres covvrienne. $ 44,000
INTEIEST EXPENSE .....vvis iiiiiiiies vt creeeiiees reeeriees eeeirees reeaiees (4,000)
Earnings before taxes .........c. vovevees ceveiins v e e $ 40,000
INCOME tAX EXPENSE ... eviiiiiies crreeiiies crreeiiees creeeriees reeesreees reeersees (12,000)
NEL INCOME ... coieiiiet ceieeieeie ceeie s eeresees cereeseens ereesreenne eesreenees $ 28,000

e. $12,000 income tax expense / $40,000 earnings before taxes = 30% average tax
rate

f. Retained earnings, January 1, 2013 .. .......c.c. cevciivieet cvevieens e ?
Net income fOr the Year......... coocevcees coviiiis s e e $ 28,000
Dividends declared and paid during the year ........... coccoceeees v, (16,000)
Retained earnings, December 31, 2013 ........ ccoceeies evviiiens ceeenen $ 59,000

Solving the model, the beginning retained earnings balance must have been
$47,000, because the account balance increased by $12,000 during the year to an
ending balance of $59,000.
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P2.18.
a. Merchandise INVENTOIY ........c. cvcveiies cevieiies e cveseeies eevreenas $ 420,000
ACCOUNTS FECRIVADIE .. .oviiiiiit et et e e e 96,000
CaSN ... e e e e e e e, e 72,000
TOtal CUMTENT ASSELS.... weeviiiies ceiiiiiies crrie e e s ceeeeiiies ceeibieees reeeeeans $ 588,000
Less: Accounts payable *...... ccccoies ceeviiiees et e e (46,000)
Current assets less current liabilities. ........... oovvieie v e, $ 542,000

* No other current liabilities are included in the problem.

D.  TOtal CUMTENT ASSELS.... cvviiieirs creeeiities creeeeiies reee s e e iiees rreeiaeeas $ 588,000
LANG... oo e s e e e e e 64,000
EQUIPMENT ... oot it s s s e e 36,000
Accumulated depreciation..... ....c.cccee covvveviee ceveiiens e e (12,000)
TOLAl @SSELS ... cvvivieiie ceerieies eririies ceer s e e eseeeea $ 676,000

C. SAlES TEVENUE. ..oocveieit et et ettt e es eeeiteeees eeesieeeans $1,240,000
Cost 0f go0ds SOIA..... ..ccveiies et s e e e (880,000)
GroSS Profit .. vt et et e e e e $ 360,000
RENE EXPENSE . woovviiiie ceiieieit crtreieits ceeie i rerresee certeaaens sereereens (36,000)
Depreciation EXPENSE .......cce wevereres erieriinie eeeeees srereenrens sreseeieas (6,000)
Earnings from operations (operating inCOMe)........... coccvevees ceveennenn. $ 318,000

d. Earnings from operations (operating iNCOME)........... voevevevves vevrvennens $ 318,000
INTEIrEST EXPENSE ...ocvvs reeiiiit crrieiees eerrierne ceerrrens ceneenrees eenneenans (18,000)
Earning before taxes.. ....coce. coveviis s e e e $ 300,000
INCOME X EXPENSE ... .eeeriviir cririeiiies eeieeins creerrrens ceneenrees eenneennns (120,000)
NEL INCOME ... ciiiiiis it e eresieaie eeeeeee eerresrens sreareaneas $ 180,000

e. $120,000 income tax expense / $300,000 earnings before taxes = 40% average tax
rate

f. Retained earnings, January 1, 2013 .. ...c.ccccos vevviiient cvevvienis e ?

Net income for the Year......... cocoocveies ceeviiiies et e e $180,000
Dividends declared and paid during the year ........... .ot voviieine (128,000)
Retained earnings, December 31, 2013 ........ cccceevves vevviiiees ceveenn, $450,000

Solving the model, the beginning retained earnings balance must have been
$398,000, because the account balance increased by $52,000 during the year to an
ending balance of $450,000.
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P2.19.
a. BREANNA, INC.
Income Statement
For the Year Ended December 31, 2013

SAIES .. eovieiiiis et e e e e e e $200,000
CoSt 0f gOOAS SOIT..... .ooveiiit it e s e e (128,000)
GroSS Profit ... ioiiies et et e e e e $ 72,000
Selling, general, and administrative eXpenses .......... cooceverr wevverene (34,000)
Earnings from operations (operating inCOME)........... ceccvevers wevvernenn $ 38,000
INEIESt EXPENSE ...ccvvs reeiiiiis i s e e e (6,000)
Earnings Defore taxXes ... vovveveis cveiieies e e e $ 32,000
INCOME taX EXPENSE ... .eeeiiviis cririiiiies eeirieiis e e cereenrees eeneenens (8,000)
NEL INCOME ...t it et e s e sreaieaneas $ 24,000

BREANNA, INC.
Statement of Changes in Stockholders’ Equity
For the Year Ended December 31, 2013
Paid-in capital:

COMMON SEOCK . e e e eieeee ceereeees evieeiens $ 90,000
Retained earnings:

Beginning balance..... ... ot vt e e $ 23,000

Net income for the year ........ coccceees ceeviiies et e, 24,000

Less: Dividends declared and paid during the year .. ........... (12,000)

Ending balance ......... oot i s e e 35,000
Total stockholders’ equity..... ...cccooves vovveriiens vovviieins e 125,000

BREANNA, INC.
Balance Sheet
December 31, 2013

Assets:

CaSH . e e e e e e, e ——— $ 65,000

Accounts receivable .. .....cc.c. ot v e s 10,000

Merchandise INVENTOIY .......... coccveis ceveries e e 37,000

Total CUMTENt SSELS.... cvevveies crieiiiies s e erieeeeans $112,000

EQUIPMENT ... it it it s e s 120,000

Less: Accumulated depreciation ....... .....coces vevveviees cvveeneenn, (52,000) _ 68,000

TOtAl @SSELS.... cvveieies cerriieiies reie i ceer e e e $180,000

Liabilities:

Accounts Payable ...... oo o s et e $ 15,000

Long-term debt.......... ooeiiis et e e s 40,000

Total liabilities ......ccc. covvveis e et e e, $ 55,000

Stockholders’ Equity:

COMMON SEOCK .eviiis ciiiiiiiis ceeeie s ceeitie s ceerieeees ceesieeeans $ 90,000

Retained earnings ..... ..cccccves ceeviieiie viveeiiens cerieesees eeveeanns 35,000

Total stockholders” equity..... ..cocvees oivirins evierienis e $125,000

Total liabilities and stockholders’ equity ...... .c.cooeers v, $180,000
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P2.19.

P2.20.

(continued)

$8,000 income tax expense / $32,000 earnings before taxes = 25% average tax rate.
$6,000 interest expense / $40,000 long-term debt = 15% interest rate. This
assumes that the year-end balance of long-term debt is representative of the average
long-term debt account balance throughout the year.

$90,000 common stock / 9,000 shares = $10 per share par value.

$12,000 dividends declared and paid/ $24,000 net income = 50%. This assumes that
the board of directors has a policy to pay dividends in proportion to earnings.

SHAE, INC.
Income Statement
For the Year Ended December 31, 2013

SAIES ... 1oiiiieis e e e e e ————— $450,000
Cost 0f go0dS SOId...... ..cceeiies et s e e e (270,000)
GrOSS PrOfit ... coviiciit e e e e e s $180,000
Selling, general, and administrative eXpenses .......... coocceveees coreenenn, (36,000)
Earnings from operations (operating inCOME) ........... wovcevevns vovvvenns $144,000
INTEIEST BXPENSE. ... vvie eveiiiies eveiiiees eeeiieee eeerieee eeerreeas eesrreeens (24,000)
Earnings before taxes. ........cc. ot veviiiiis e e e $120,000
INCOME 1AX EXPENSE.... weviiiiies ereiiiies everiiiees eeerireees eeeseeens eesireeens (42,000)
NEL INCOME ... covieiiies cierieis eerteeries certeeeens erreeeesne sreeeeares eaneesses $ 78,000
SHAE, INC.

Statement of Changes in Stockholders’ Equity
For the Year Ended December 31, 2013
Paid-in capital:

COMMON SOCK ...vcvii cevieiiis crrieiiies ceveieeies cevereieens cereeinns $ 105,000
Retained earnings:

Beginning balance...... ......cc.. oot et s e, $ 64,500

Net income for the year ........ coooeeees cevieiiet s e 78,000

Less: Dividends declared and paid during the year ... ........... (19,500)

ENding Dalance .......... oot it et et s 123,000
Total stockholders’ equity ..... ...ccccoet voiiiiis civieies s $228,000
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P2.20.  (continued)
a. SHAE, INC.
Balance Sheet
December 31, 2013

Assets:

CASN .. e et e e e e $ 96,000

Accounts receivable .. ...t e e s e, 60,000
Merchandise INVENTOIY .......... cecveies evveiees ceveeieens cveeens 132,000

Total CUITENE ASSELS ... weeieeiees ceeeeeieet cevie s ereeee e cveeseeas $288,000
Buildings and equipment ....... cccoeeies ovveiens e e 252,000

Less: Accumulated depreciation........ ..cccceee covvrins ceveene, (108,000) _144,000
TOtAl BSSELS..... evveivieis cerrieiient crrieries e e e $432,000
Liabilities:

Accounts payable...... ..ot v et e s $ 45,000

Accrued HabilitieS...... .o o s s e, 9,000

Notes payable (I0ng term)...... .ccooeies evviiis i e, 150,000

Total liabilities ......cce voveeriies e s e e $204,000
Stockholders’ Equity:

(0011010010 0 15S) (0161 R $105,000

Retained earnings ...... oot vovevieins cevveeies eveeriees ceeeneans 123,000

Total stockholders” equity ..... ...ccvve vorvveies o e $228,000
Total liabilities and stockholders’ equity....... .ccccovves veriennnn $432,000

b. $42,000 income tax expense / $120,000 earnings before taxes = 35% average tax
rate.

c. $24,000 interest expense / $150,000 notes payable (long term) = 16% interest rate.
This assumes that the year-end balance of long-term debt is representative of the
average long-term debt account balance throughout the year. If large amounts of cash
had been borrowed near the end of the year, then the interest rate charged on long-term
debt would be greater than 16% because the average debt outstanding would have been
less than $150,000. Likewise, if large repayments of long-term debt had occurred near
year-end, then the interest rate was less than 16% because the average outstanding
long-term debt would have been greater than $150,000.

d. $105,000 common stock / 21,000 shares = $5 per share par value.

e. $19,500 dividends declared and paid / $78,000 net income = 25%. This assumes that
the board of directors has a policy to pay dividends in proportion to earnings.
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pP2.21. Stockholders’
Assets = Liabilities + Equity
a. Borrowed cash on a bank loan + + NE
b. Paid an account payable - - NE
c. Sold common stock + NE +
d. Purchased merchandise inventory on account + + NE
e. Declared and paid dividends - NE -
f. Collected an account receivable NE NE NE
g. Sold inventory on account at a profit + NE +
h. Paid operating expenses in cash - NE -
I. Repaid principal and interest on a bank loan - - -
P2.22.

August 1, 2013 totalsS....... coccveceis v e
August 3, borrowed $12,000 in cash from the bank
NeW totals. ...
August 7, bought merchandise inventory valued at
$19,000 on account
NEW tOLAIS ... eeveeiiies et e eeee e
August 10, paid $7,000 cash operating eXpenses ........ ..c.ccoe...
NEW TOLAIS ... eoeiiiiies et e e
August 14, received $50,000 in cash from sales ........ ...c........
of merchandise that had cost $33,000
NEW TOLAIS ... oo et e e
August 17, paid $14,000 owed on accounts payable..... ...........
NEW tOLAIS ... eoeiiiiies et e e
August 21, collected $17,000 of accounts receivable
NEW tOLAIS ... weiereieiies crierereits e cereenee e
August 24, repaid $10,000 to the bank, plus $200 interest
N Lo o] v PSR
August 29, paid Stacy-Ann Kelly a $5,000 cash dividend .......
August 31, 2013 totals

2-20

Stockholder’s

Assets = Liabilities + Equity

$350,000
+ 12,000

$275,000
+12,000

$ 75,000
0

$362,000

+19,000

$287,000

+19,000

$ 75,000

0

$381,000
—7,000

$306,000
0

$ 75,000
—7,000

$374,000
+50,000
—33,000

$306,000

0

$ 68,000
+50,000
—33,000

$391,000
—14,000

$306,000
—14,000

$ 85,000
0

$377,000
0

$292,000
0

$ 85,000
0

$377,000
—10,200

$292,000
—10,000

$ 85,000
—200

$366,800
—5,000

$282,000
0

$ 84,800
—5,000

$361,800 = $282,000 + $ 79,800
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b. Total revenues were $50,000 (from sales) and total expenses were $40,200 (which
included $7,000 of operating expenses, $33,000 of cost of goods sold, and $200 of
interest expense). Thus, net income was $9,800 ($50,000 - $40,200).

Alternative calculation: Stockholder’s equity increased by $4,800 during the month of
August (see answer to part c), even though a $5,000 cash dividend was declared and
paid to Stacy-Ann Kelly. Since there were no capital stock transactions during the
month, net income was $9,800. ($75,000 beginning stockholder’s equity, plus $9,800
net income, minus $5,000 dividends, equals $79,800 ending stockholder’s equity.)

C. Augustl  August 31 Net Change
Total aSSEtS.... coovveevies cereieeies e $350,000  $361,800 $11,800
Total 1iabilitieS ....ccooev voveeeees e 275,000 282,000 7,000
Total stockholder’s equity..... ........... 75,000 79,800 4,800

P2.22.  (continued)

d. Stacy-Ann Kelly’s stockholder’s equity increased by $17,000 as a result of the sale on
August 14th ($50,000 revenue - $33,000 cost of goods sold). Her stockholder’s equity
decreased by $7,000 for the operating expenses recorded on August 10th, by $200 for
the interest expense recorded on August 24th, and by $5,000 for the cash dividend
recorded on August 29th. In other words, her stockholder’s equity was increased by
revenues, and it was decreased by expenses and dividends.

e. Interest is an expense because it represents a necessary payment to others (i.e., creditors)
for the use of their money—thus, it is a “cost” of doing business. Dividends are instead a
distribution of profits to the owners/stockholders of the firm and thus represent a partial
liquidation of the firm. A dividend is not an expense because it represents a profit
distribution; it is not a “cost” of doing business.

f.  When money is borrowed from the bank, an asset (cash) is increased and a liability
(notes payable) is also increased by an equal amount. Net income is increased only when
revenue has been earned—and money borrowed from the bank represents a liability that
must be repaid, not revenue that has been earned.

g. Paying off accounts payable decreases an asset (cash) and decreases a liability (accounts
payable) by an equal amount. Collecting an account receivable increases an asset (cash)
and decreases another asset (accounts receivable) by equal amounts. In both cases, only
balance sheet accounts are involved. Net income is increased by revenues and decreased
by expenses. The expense associated with a cash payment of an account payable would
have been recorded in an earlier transaction (when the expense was incurred and the
account payable was established); by the same logic, the revenue associated with the
collection of an account receivable would have been recorded in an earlier transaction
(when the revenue was earned and the account receivable was established).
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P2.23.
Amounts shown in the balance sheet below reflect the following use of the data given:

a. An asset should have a "probable future economic benefit"; therefore the accounts
receivable are stated at the amount expected to be collected from customers.

b. Assets are reported at original cost, not current "worth." Depreciation in accounting
reflects the spreading of the cost of an asset over its estimated useful life.

c. Assets are reported at original cost, not at an assessed or appraised value.

d. The amount of the note payable is calculated using the accounting equation, A = L + SE.
Total assets can be determined based on items (a), (b), and (c); total stockholders' equity is
known after considering item (e); and the note payable is the difference between total
liabilities and the accounts payable.

e. The retained earnings account balance represents the difference between cumulative net
income and cumulative dividends.

P2.23.  (continued)

Assets: Liabilities and Stockholders’ Equity:
Cash ... ot e e $ 700 Note payable ..o coiviiinies e $ 2,200
Accounts receivable...........cc.. cooveeennn. 3,400  Accounts payable ............ cooveiereiens e 3,400
Land....... cooeeiiiiees et e 11,000 Total liabilities .......c... coeveveeiiis e, $ 5,600
AUtOMODIlE ..ot et e $18,000 CommMON StOCK ....cocvvviees ceeveeieeeiee cvteee e, 8,000
Less: Accumulated depreciation........... (6,000) _12,000  Retained €arnings........c.. cooerererenes orvevisreens 13,500
Total stockholders’ equity.......... wccocvrrernene. 21,500
Total assets.......ovvvnveriiniineniinannns $27,100  Total liabilities and stockholders’ equity....... $27,100
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pP2.24.
EPSICO, INC.
Balance Sheets
December 31, 2013 and 2012

Assets 2013 2012  Liabilities 2013 2012

Current assets: Current liabilities:

(OF: 1 H $ 114 $ 90 Notepayable...... coooovviiier vevvierenienen $ 147 $ 120

Accounts receivable............... 378 360 Accountspayable....................elll 369 330

INVENTONY ..covevviiecies i 723 690 Total current liabilities.... .......... ... $ 516 $ 450
Total current assets.............. $1,215 $1,140 Long-termdebt.......ccoceoeeee oo ... $ 180 S 240

Land....... coooveviies e $ 75 $ 75 Stockholders’ Equity

Equipment........ccoce. veereriennne 1,170 1,125 Common stocK.... .ccccveveeee ceveeneee ... $ 600 $ 600

Less: Accum. depreciation. .. (540) (480) Retained earnings.............c.... ...... 624 570
Total land & equipment...... $ 705 $ 720 Total stockholders’ equity. ... ....... $1,224  $1,170

Total assets .....covees vevrereenne $1,920 $1,860 Total liabilities & stockholders’ equity. $1,920  $1,860

Solution approach:

1. Retained earnings, 12/31/12......... coccceier coeviiies ceeeiees erierienes eereaneans $570
Net income for 2013 (QIVEN) ...ccc. coveieiis ceeieies eeieeies cerieeiens cereeseeans 78
Dividends for 2013 (QIVEN) ..c..coovs woiiieis eieriinis erieeies eerieniens seesienieas (24)
Retained earnings, 12/31/13 ........ cooooiiit v e e e $624

2. Cash at 12/31/13 is $24 more than at 12/31/12.
3. Cost of equipment at 12/31/13 is $45 more than the balance at 12/31/12.

4. Land balance at 12/31/13 is the same as at 12/31/12. Fair market value is
irrelevant.

5. Calculate total current assets, total land and equipment, and total assets.
6. Total assets can then be used for total liabilities and stockholders’ equity.
7. Total stockholders’ equity is calculated and added to total current liabilities. This

amount is subtracted from total liabilities and stockholders’ equity to determine
long-term debt.
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P2.25.

For the years ended November 27 and 28, respectively:
Nt TEVENUES. ...ttt
Cost of goods sold...

Gross profit... e
Selling, general and admlnlstratlve expenses ................
Operatlng mcome .
Interest expense and other expenses net ........................
Income before income taxes..
Income tax expense
NEt INCOME....uvieiieiieittetiiieiereereee e eseeree e e e e e

As at November 27 and 28, respectively:

Total @SSELS......eiiiiieeieeciie et
Total Habilities..........ccvvievireirieieerie et see e eree e
Total stockholders' defiCit.........ccccovevvvieniiiiicieinie e,

P2.26.
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2011 2010
$4,761,566  $4,410,649
2469327 2,187,726
2292239 2,222,923
1955846 1,841,562
336,393 381,361
133,566 145,763
202,827 235,598
67,715 86,152
$ 135112 $ 149446
$3,279,555  $3,135,249
3,429,384 3,335,077
(149,829)  (199,828)

2011 2010
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NEL SAIES ...vcvet v i crererees erereees e, $108,249 $65,225
CoSt OF SAIES .. eeevveiis et e e, (64,431) (39,541)
Gross Profit ... ccccveees oo et e e $43,818 $ 25,684
Gross profit/net sales. ........... voeveie v e, 40.5% 39.4%

Apple has achieved absolutely amazing sales growth in recent years.

Although the 1.1% increase in the gross profit/net sales ratio during the year ended
September 24, 2011 was not terribly significant, it does reflect the continuation of a
very positive trend for the company.

For your reference, here is Apple’s 5-year trend for these data:

2011 2010 2009 2008 2007
Net sales........ cccocunee. $108,249  $65,225 $42,905 $32,479  $24,006
Cost of sales.. ........... (64,431) (39541) (25,683) (21,334) (15,852)
Gross profit ... ........... $ 43818 $25684 $17,222 $11,145 $ 8,154
Gross profit/net sales. 40.5% 39.4% 40.1% 34.3% 34.0%
b.
2011 2010
Gross profit (from part a above) ...... .ccccoeeer v $43,818 $25,684
Research and development eXpenses ........... cooueu... 2,429 1,782
Selling, general, and administrative expenses .......... 7,599 5,517
Operating INCOME ...... iccceiieer cevieiies ceerieeies eerreenes $33,790 $18,385
Operating income/net sales ... ......ccce. voevveins cevvieenne. 31.2% 28.2%
The change in operating income as a percentage of net sales during the fiscal year
ended on September 24, 2011 would be considered to be quite significant by most
financial analysts particularly if this trend were to continue in future years.
C.

2011 2010
Operating income (from part b above) ......... ....c..... $33,790 $18,385
Other INCOME, NEL ... .oovvieieet et e es ceviieens 415 155
INcOMeE Defore taxes .. c.ococveer ceveeecees eeeieies ceeeeens $34,205 $18,540
Provision for inCome taxes.... ...ccccee vevvveeier cevveeenne (8,283) (4,527)
NEL INCOME ... coiiiiiies et e riies ceeiieees creeeeans $25,922 $14,013

Solution approach: The “Income before taxes” line has been added to emphasize
the importance of understanding the difference between operating and non-
operating items on the income statement. The problem could be solved without
calculating this number.
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Chapter 02 - Financial Statements and Accounting Concepts/Principles

C2.27.
In parts a, b and d, if students are willing to share the different kinds of assets,

liabilities, revenues, expenses, and cash flows they have identified, this case can be
used to review the basic characteristics of the balance sheet, income statement, and
statement of cash flows.

In part c, the point is that projected income activity for the current period has a
direct impact on the projected balance sheet.

In part e, the point is that income and cash flow are two different things entirely.
Possible explanations might include:

e Receipt of student loan proceeds (or scholarships, grants) towards the end
of the semester.

e Certain costs of attending college (i.e., tuition, room and board, meal plans)
might be incurred by the student, but not yet paid.

e A student work on a part-time (or full-time) basis throughout the semester,
which may generate more cash flow than she was able to accumulate during
the summer preceding the fall semester.
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Chapter 02 - Financial Statements and Accounting Concepts/Principles

TAKE-HOME QUIZ —CHAPTER 2 NAME

Presented below is the Statement of Cash Flows for Marstore, Inc., for the year ended
December 31, 2013. Also shown is a partially completed comparative balance sheet as of
December 31, 2013 and 2012.

MARSTORE, INC.
Statement of Cash Flows
For the Year Ended December 31, 2013

Cash flows from operating activities:

NEE INCOME ..ttt $ 23,000
Add (deduct) items not affecting cash:
Depreciation EXPENSE .......ccviiierieeiesee e eree st steese e e e reenae e sreas 6,000
Decrease in accounts receivable ..., 8,000
Decrease in accounts payable ..........cccccvevevieiieie s (6,000)
Net cash provided by operating aCtivities...........cccoovrreiereeniscieneienen, $31,000
Cash flows from investing activities:
Purchase Of Store fiXIUIES.........coviieiececccr e $(4,000)
Cash flows from financing activities:
Repayment of long-term debt ..........ccooiiiiiiieie e $ (2,000)
Payment of cash dividends on common stocK ...........cccccevveieiieiciiennn, (5,000)
Net cash used by financing aCtivities...........c.ccovveivrrereneiensere e, $(7,000)
Increase in cash for the Year...........ccccovevv e 20,000

MARSTORE, INC.
Balance Sheets
December 31, 2013 and 2012

2013 2012 2013 2012

Current assets:
Cash.....ooooviiiiiiiiiii, $ 37,000 $ Accounts payable....... $ $18,000
Accounts receivable........ 39,000 Long-term debt.......... 18,000

Total current assets..... $ $ Total liabilities........ $ $
Store fixtures............... $ $24,000 Common stock.......... $ $ 20,000
Less: Accumulated Retained earnings........

depreciation.............. (13,000) Total s’holders’ equity $
Net store fixtures........... $ $ Total liabilities and
Total assets.................. $ $ s’holders’ equity...... $ $
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Chapter 02 - Financial Statements and Accounting Concepts/Principles

TAKE-HOME QUIZ —CHAPTER 2 (continued)

1. Complete the balance sheets for Marstore, Inc., at December 31, 2013 and 2012. Identify
your strategy by listing, in general, the sequence of steps you used to find the unknown amounts.

2. Does the amount shown on the balance sheet for Net Store Fixtures represent the current fair
market value of the store fixtures? Explain your answer.

3. Prepare a Statement of Changes in Retained Earnings for the year ended December 31, 2013.
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Chapter 02 - Financial Statements and Accounting Concepts/Principles

TAKE-HOME QUIZ KEY—CHAPTER 2

1. < Use information in the statement of cash flows to determine either the beginning or ending
amounts for assets and liabilities. For example, accounts receivable decreased $8,000, so at
the end of 2013 the balance was $31,000.

* Based on total assets and total liabilities at the beginning and end of the year, determine
total stockholders' equity at each date.

« Using total stockholders' equity at the end of 2012, solve for retained earnings at that date.

* The cash flows from financing activities on the statement of cash flows does not show any
cash from the sale of additional stock, so the ending balance is the same as the beginning
balance. Knowing this, retained earnings at the end of the year can be determined.

* Or, use information about net income and dividends from the statement of cash flows,
and the beginning balance of retained earnings (as determined above) to calculate ending
retained earnings. Then, capital stock at the end of the year can be determined.

MARSTORE, INC.
Balance Sheets
December 31, 2013 and 2012

2013 2012 2013 2012
Current assets:
Cash.....cooooviiiiiininnn, $37,000 $17,000 Accounts payable........ $12,000 $18,000
Accounts receivable...... 31,000 39,000 Long-term debt.......... 18,000 20,000
Total current assets.... $68,000 $56,000 Total liabilities........... $30,000 $38,000
Store fixtures.............. $28,000 $24,000 Common stock........... $20,000 $20,000
Less: Accumulated Retained earnings....... 33,000 15,000
depreciation............ (13,000) (7,000) Total s’holders’ equity.. $53,000 $35,000
Net store fixtures......... $15,000 $17,000 Total liabilities and
Total assets................ $83,000 $73,000 s’holders’ equity...... $83,000 $73,000

2. No. The balance sheet shows the original cost of assets, less accumulated depreciation, which
for accounting purposes is that portion of the cost of the asset that has been "used up."

3. Retained earnings, 12/31/12........cccviueieieieie ettt $15,000
Add: Net inCome fOr the YEar.........ccveiii i 23,000
Less: Dividends declared and paid ..........cccooerenininininieieee s (5,000)

Retained earnings, 12/31/13.......ccoo it $33,000
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